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Notes and reminders

• Room for Quiz 2: GHC 4215



Prob #5
proof

5: (26pts) Proof

Here is a proof that  distributes over . It is missing the justification for each line. So,
for each line, mark the box for its justification (1pt), and list the line numbers of the
premises needed, if any (1pt). Abbreviations: A = assumption,  = or-introduction, 
= or-elimination (proof by cases),  = and-introduction,  = and-elimination,  =
implies-introduction (proving a lemma). The first two lines are examples, so you don't
need to add anything to them. Line 1 is an assumption, so we mark A with no premises.
Line 2 is or-introduction from line 1, so we mark  and put 1 under premises.

# Formula A Premises

1  none

2  1

3  

4  

5  

6  

7  

8  

9  

10  

11  

12  

13  

14  

15  

∨ ∧

∨I ∨E

∧I ∧E → I

∨I

∨I ∨E ∧I ∧E → I

a ◯✓ ◯ ◯ ◯ ◯ ◯

a ∨ b ◯ ◯✓ ◯ ◯ ◯ ◯

a ∨ c ◯ ◯ ◯ ◯ ◯ ◯

(a ∨ b) ∧ (a ∨ c) ◯ ◯ ◯ ◯ ◯ ◯

a → [(a ∨ b) ∧ (a ∨ c)] ◯ ◯ ◯ ◯ ◯ ◯

b ∧ c ◯ ◯ ◯ ◯ ◯ ◯

b ◯ ◯ ◯ ◯ ◯ ◯

a ∨ b ◯ ◯ ◯ ◯ ◯ ◯

c ◯ ◯ ◯ ◯ ◯ ◯

a ∨ c ◯ ◯ ◯ ◯ ◯ ◯

(a ∨ b) ∧ (a ∨ c) ◯ ◯ ◯ ◯ ◯ ◯

b ∧ c → [(a ∨ b) ∧ (a ∨ c)] ◯ ◯ ◯ ◯ ◯ ◯

a ∨ (b ∧ c) ◯ ◯ ◯ ◯ ◯ ◯

(a ∨ b) ∧ (a ∨ c) ◯ ◯ ◯ ◯ ◯ ◯

[a ∨ (b ∧ c)] → [(a ∨ b) ∧

(a ∨ c)]
◯ ◯ ◯ ◯ ◯ ◯

✓ I

✓ 2
,
]

✓ 1,4

✓ -

I 6

✓ 7

t 6

✗ 9

✓ 8,10

✓ 6,11

✓ -

✓ 5,12113

✓ 13,14



Exercise
Information gain

X1 X2 Y

1 1 0

0 1 0

1 0 0

0 1 1

0 0 1



Selection bias
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